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General Instructions :

1.
2.

Answers of all questions are to be given in the Answer-Book given to you.
15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.
Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.
For the objective type of questions, you have to choose any one of the four alternatives given in the
question, i.e., (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.
All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.
Write your Question Paper Code No. 67/0OS/1-A on the Answer-Book.
(@) The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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Tua T fean s
IW-Yfedert H Team-fag oM stan fHfdse Tl o stfafta 2l off st foram 9 wdenefl =1 s
ST S |
3T IT-IRR | Y- 1 &€ 1. 67/0S/1-A fad |
(%) Y- Fhaa Asht /R § T1 R oft, afe o = @ = < e foRet T o H ST WeRd € -
Tforqd, srafian, S, HYHR, Fohd IR fat |
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BUSINESS STUDIES
TR 3T
(215)

Time : 3 Hours | [ Maximum Marks : 100
UG : 39U ] [ guifes : 100

Note :

(i)
(i)
(i)
(iv)

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and write the
most appropriate option out of the four options given in each of these questions. An internal
choice has been provided in some of these questions. You have to attempt any one of the given
choices in such questions.
(v)  Section - B consists of
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 carry 2 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.
(vi) Section - C consists of
(a) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
() Q.No. 48 to 51 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
ﬁé’?‘l‘ :
(i) 9 IA-TF H FA 51 T L
(i) |t g e T
(iii) I I F A TR 3k feu M )
(iv) @Ug -k H e € :
U9 HE&AT 1 | 20 T Tgfashedid YR & T § 31K Y& 1 31 1 81 T70 § Y U9 ¥ fgu U =)
forhedl # | Had IUg foshed o1 9o o faamT §1 578 9 3 T § oTiafke fased fau e €1 el
T uwHl # feu Tu fashedl # ¥ hae Ueh fashed o1 & S forem gm |
(v) W@US-WH i ¥ :
Y9 WEAT 21 ¥ 35 O IS YHR & U T 1 WA WEAT 21 | 35 T YIS U9 2 37 & €
(Ieh 1 31k o 2 3T-9FI & |MY) | T T o e fqu 70 9 o 78R 37 9911 & S fad |
(vi) ®@Ug -7 H e €
(a) U HEAT 36 W 41 T 317 T-3TT YR o SI-aF ikl & T & | 37 U1 & IW 30 W 50 T3
# fou s =nfe |
(b) WY WEAT 42 W 47 T TY-SIT YR & -1 3Tl & T &1 37 U1 & IW 50 W 80 Ieaf
# feu S =fey |
(c) W9 WEAT 48 W 51 Tk <8 ST TR & Ure-dier 3{hi o T9 &1 37 T o ST 80 W 120 Irsaf
# feu S =fey |
EiE
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SECTION-A / @Us-h

Questions 1 to 20 are MCQs of 1 mark each. Internal choices have been given wherever necessary.

T 19 20 TAF 1 37k & Tgfaehedid T €1 SRl ot 31awak @, SAidfie fasey fou & €1

1. (i) A sole trader has:

(A) Unlimited resources (B) Limited resources
(C) Sufficient resources (D) None of the above
Teh Thel SATIRI % U9 81 & -
(A) STt =i (B) #ifHa &
(C) Tar & (D) T8 | H1E T
OR / 3A<ar
(i) Who takes the decisions in a Joint Hindu Family ?
(A) All members (B) Concensus
(C) Karta (D) None of the above
T G g ufar ¥ fofa o o 72
(A) |l S (B) §d HHfd
(C) (D) TTH 9§ WIS Tl
2. (i) The primary aim of cooperative society is to :
(A) earn more profits (B) serve the members
(C) raise production (D) none of these
TEwR! |ufd 1 gefie 3R ©
(A) AT T HHA (B) TSl i el LA
(C) SR F@H (D) TTH § FEE &
OR / AT
(i) A Joint Stock Company is registered under the :
(A) Statutory Act (B) Chartered Act
(C) Companies Act (D) Contract Act
T G Wik HroT fhaeh st=afa dsiisha art § 2
(A) duifes sifafrem (B) =eE Afufrm
(C) gt safuftem (D) egery stfufEm
3.  Which of the following is not a method of direct distribution ?
(A) Direct Mail (B) Broker
(©) Factory Outlet (D) Telemarketing
frfafed § & SH-w g faaon #t fafy 72 § 2
(A) T TH (B) <A™
(C) Tl Tt &g (D) fermmehfén
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4. (i) Direct channels of distribution include :
(A) Producer — Retailer
(B) Producer — Consumer
(C) Producer —» Agent — Consumer
(D) Retailer - Consumer

foraor % weae et | wive ®
(A) IEH — Ikt foshan
B) ScIGsh — SUHTKI

(
(C) THEH — TSI — ST
(D) e fashdl — Susier
OR / et
(i) Retailers are the traders who buy goods from :
(A) Customers (B) Wholesalers
(C) Both (A) and (B) (D) Consumers
Freah? fashal TH AR B1d € S gt & Y Elied €1
(A) e (B) ek farshansii
(C) < (A) T (B) (D) SqrermA
5.  Which of the following is not a characteristic of advertising ?
(A) Impersonal (B) Non-paid
(C) Identified sponsor (D) Mass communication
frfafed # & HE-§ form =7 forom & € ?
(A) Sl (B) TR~
(C) UTISTeh <hl g (D) S HER
6. (i) Advertising is affected by factors.
(A) Economic (B) Social
(C) Technological (D) All the above
[EEILE| SR § I B |
(A) iR (B) ETHIRTH
(C) eI (D) W Tt
OR / e
(i) Electronic media includes :
(A) Radio (B) Television
(C) Internet (D) All of these
TererRifen wTeAy § et e ¥
(A) e (B) ferfersr
(C) T (D) ST T+
7.  In which year Consumer Protection Act was enforced ?
(A) 1976 (B) 1984
(C) 1986 (D) 1995
ST W& fHfTIH he AR gt ?
(A) 1976 (B) 1984
(C) 1986 (D) 1995
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10.
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In case an aggrieved consumer is not satisfied with the decision of the State Commission, he
can make further appeal into :

(A) National Commission (B) District Forum
(C) Supreme Court of India (D) All of the above
7Ifg g Wifed ST T 3TN & 0 @ T &l €, O 9 ST STdet Y Hehdl © :
(A) T S (B) Tt o
(C) ¥RA I Fallsd =Arerd (D) W |t
(i) Consumerism refers to movement by :

(A) Consumers (B) Producers

(©) Society (D) Government

IYYIHITENE Teh A< © ¢

(A) a1 (B) ScdIGHI I

(C) HHIS 1 (D) THR

OR / 3teran

(i) In case consumer is not satisfied with the order passed in the National Commission, he
can further make an appeal to :

(A) District Court (B) High Court
(C) Supreme Court (D) Any Court
AfE I ST AL AT H Wi o @ ggee 71 §, o o8 oI oTdiet R Teha § ¢
(A) e = | (B) I = H
(C) Har= = o (D) forslt off =ararera ®
(i)  Which right provides due compensation to consumers ?
(A) Right to choose (B) Right to be heard
(C) Right to be informed (D) Right to seek redressal
-1 AR ST 1 3o FfdwR feam § 2
(A) I A ATHHER (B) geE <l AfHHR
(C) Hfea ford SH &1 SAfeR (D) 7w =1 SIfHR
OR / 3t

(i) Consumer is a person who :
(A) Consumes goods and services
(B) Uses goods and services
(C) Buys goods and services for use
(D) All of these

39T U A B © S

(A) TR TR Hasii 1 ST AL T

(B) g TR Harsii hT IUANT AT T |

(C) aEgell iR Hanell & Wi W & fau wd T
(D) Wi qff
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11. (i) Which of the following rights reflects that consumer’s interests will receive due
cosideration at appropriate forums ?

(A) Right to be heard (B) Right to choose
(C) Right to seek redressal (D) None of the above
frafafed § § ®F-w sAfawR Tt ¢ o Suaviermet % fodi i Sfaa w0 w s fon s ?
(A) G STH I SATURR (B) T I AfHHR
(C) o A =1 3tfesR (D) ST ¥ § i &
OR / e
(i) Which of the following is not the responsibility of the consumer ?
(A) To be heard (B) To think independently
(C) To be aware (D) To complain
frfafed § @ susia =1 R SR-5 = 82
(A)  FASH (B) T&d= &Y 9 HIAl
(C) ek &l (D) forerrd =

12. Consumer protection is important because of :
(A) Consumer ignorance
(B) Unorganised Consumers

(C) Widespread exploitation of Consumers
(D) All of the above

YT HEU THAT HEeul ©
(A) UM ST

(B) 3THTfod SUHIEHT

(C) IuvrETS 1 AR A

(D) STl |t
13.  Which of the following right depicts that they should know their rights and must exercise
them ?
(A) Right to be informed (B) Right to be heard
(©) Right to Consumer Education (D) Right to choose

frefafed § @ -1 AfeR <wia & for 3= 31o AferRl =l ST =gt ST S9eht WA e
=feq ?

(A) Hfwd T i e (B) A ST 1 AfHHR
(C) SuHrerT fran w1 sAfehr (D) T I AfHER
14. (i) A standardised mark printed on jewellery is known as :
(A) ISl (B) Agmark (C) Hallmark (D) ISO 2009
O TR Hfed gHIa oz sl el S ©
(A) STE TH 3TE (ISI) (B) TWHEh (C) e (D) STE TH 3T 2009
OR / e

(i) District Commission has jurisdiction to entertain complaints where the value of goods
and services paid as consideration does not exceed rupees.
(A) 10 lakh (B) 20 lakh (C) 30 lakh (D) 40 lakh
STt TN & e 37 ekl W TR o6 w1 Stfuehr &5 & SiEl wiathel & &9 § 9 i
TE gl SR Hansii 1 god T03 § aferk T 7
(A) 10 o= (B) 20 <&@ (©) 30« (D) 40 <=
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15.

16.

Wage employment means :

(A) Doing business

(B) Serving another person for wages or salary

(C) Engaging in some economic activity on his own
(D) None of the above

AT ISR 1 379 %

(A) SATEE B

(B) gy A1 o & fore foreft e saferd skt Qe sha
(C) & FB i wfafafeel § e g

(D) SR H | g T

Career Path means :

(A) Work done in different job positions
(B) Way adopted for a career

(C) Getting professional degree

(D) Getting a job title

Sffeeprarsi & T 1 o ¢

A)  IT-STH UG W 1 KT

B) Siiforet o foTT SToAmI TR T

C) Ut Tt gret e

)
D) i i U YT Sl

(
(
(
(

17. (i)  Choice of career involves :
(A) Wage Employment (B)  Self-employment
(C) Both (A) and (B) (D) None of these
STTfoehTaTS 1 =IF AFHE e & -
(A)  SEHIT ISR (B) TW-USR
(C) =i (A) 3 (B) (D) TTH § FIE &
OR / e
(i) Choosing career requires :
(A) Interest (B) Personality
(C) Skills (D) All of these
SRR <o T STereehal Bidl © :
(A) = (B) Al
(C) e (D) & msft
18. Entrepreneurship leads to in unemployment.
(A) Increase (B) Decrease
(C) Neither increase or decrease (D) None of the above
SEfHaT | SRSy | T 2|
(A) 9fs (B)
(C) @ gfg T & wH (D) W H ¥ g &l
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19. Which of the following are the qualities of successful entrepreneur ? 1
(A) They are confident
(B) They take responsibility for their actions
(C) They work hard
(D) All of the above
frfefaa & 9 S 91 9o SaH & 0§ ?
(A) o I §
B) o 394 i ot SRR o §

(

(C) 9w HeTd Fd §

(D) Ul |t

20. (i) An entrepreneur do the things as : 1
(A) others are doing (B) different from other
(©) alazy person (D) none of these
T STH! 39 TER I © S
(A) T AW T (B) T ¥ fy=
(C) T ATerdl Al (D) TTH 9§ IS Tl
OR / e

(i) Which of the following is a function of the entrepreneur ?
(A) Innovation (B) Risk bearing
(C) Managing (D) All of above
frfafed 9 & v ot &1 %6 PA-w 2
(A) TEER (B) SifEH 3™
Q) 9T (D) W Tt

SECTION-B / @Us-@

Question No. 21 to 35 below. Internal choice have been given wherever necessary.

T 219 35 = fed E 1 W ot eTevae @, sl foehey fed T ¥
21. Fill in the blanks : 2x1=2

(@) The activities which are performed with an objective to earn money are known as

(b) The terms and conditions of employment are decided by the

TRt T o
(a) 9 foRamd S oM AN % IGR9F 9 HI S €, gl ¥ |
(b) IR F Fom IR ot SR T i Sl ¥
22. Fill in the blanks : 2x1=2
(a) Today because of the entire world has become a big market.

(b) Paying taxes to the government honestly and regularly is guided by
Tt 2o ol

(a) o HROT FHUT foIee Tk o€ TSI o T ¢ |
(b) TER FI FAfHT T SAFGRT < @ A A e 511 AR B
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23. (i) Raman General Store is a big businessman who deals in selling Nestle products in his
locality. He purchased products of Nestle directly from the State Distributor in bulk
quantities and sold them in the market of small shopkeepers from different corners of
the city. Identify which type of trade followed by Raman General Store ? 1x2=2

A TR LR T 91 AT § S 3794 Tl | 7%l o SIS o= 1 hIH il § | S/
T o IcUTE HE T foaie § R A § T 3 3% IR O ST STelT i | ST Bie-
BI GhHMGRI ol STSR | =1 | T SRS ©R §RI STIAT S 97! SR i T8=H Y |
OR / 3terar
(i) ‘Moon Oil Mills” produce refined oil. The entire production is lifted by ‘Shashi Oil

depot’, who in term sells it to various retailers. Mrs. Kamla, purchased 3 kg of oil from
‘Ramaji Groceries’. Name the wholesaler and retailer.

‘A T fret’ aftehd qo Seunfed SRRt ¥ | SR THE Scared it ae feur’ gr et e S
T S 3% fafv= et fosharsli &l st © 1 i A 7 3 kg 77 TS @ qUeR’ 9
TSN | 3T o SMYUR W 2feh TR 2 Heehd S 61 M fafaw |

24. True or False : 2x1=2
(a) The liability of a sole proprietor is limited.
(b) Domestic producers improve the quality of their products because of multinational
companies.
g 91 A9 -
(a) THA WH I S i

(b) SEUSET HEHE! % HROT ] SENT 3T SIS shi TJ0ral | IR o € |

25. (i)  Mr. Vikas is running a business in sole proprietorship. Due to loss in the business he
decided to wind up. On the day of winding up, the assets are worth I 5 lakh and
liabilities are worth X 8 lakh. He also has his personal property of ¥ 8 lakh. How much
do you think creditors will get at the time of winding up of the business ? 1x2=2

. TorehTe ehet TfHeel STell SR =Iell T8 € | e | Bl 8 o %R0 32 36 o< hid
=1 Traren for | w6 foq, weafa 5 org ol 1 oft oiR SR 8 e Tl W oft | 3R
T ST ST et ot 8 g T 7 | ST9e foaR ¥ A€ & HHIT o HEY SER|
fepert ¥ figereit 2
OR / 3t
(i) Mrs. Reeta wants to start a business organisation but she is afraid that in case the assets
of her business fall short of repaying the liabilities, her personal assets could also be

used to repay the liabilities. Suggest to Mrs. Reeta, which form of business organisation
she should start so that her fear comes to end.

Smfq e T s e IE FIA IRt § ofhd S &) ¢ & afg s7% sgaam =t
Hqr( ST 1 b H T TS I &, A1 3okl SATKITA FHATd 1 STANT AT bl FehM
o fordr oft foran 1 wohan € | Sfimfa Tet &l 1 < foh 3 fohe UohR o1 etk ST & il
HTfeT difeh 3R Y& I B ST |

g
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26. (i) True or False: 2x1=2
(a) Feedback is one of the elements of the process of communication.

(b) People in an organisation can escape from communication.
g 1 AT -
(a) fd-3TR FEwO Ufshan 1 T a T
(b) Tomelt HTeA &% @R I | 99 Hhd § |
OR / AT
() Fill in the blanks :
(@) The person who receives the message is called as
(b) Communication through words spoken is known as

ECSROIERTTUE
(a) S cAfad T YT HIA R |
(b) VR & IARV GRI fRA T AT FEITO ¢ |

27. Best Answer Test : 2x1=2
(@) The communication with the help of pictures, symbols, diagrams is called as

(b) What is Video-Conferencing ?

REINCICE I LU
(a) o, e, e s ¥ gR1 gw T w7 ¥
(b) e witRifET T 2
28. (i) Fill in the blanks : 2x1=2

(a) KYC stand for .
(b) In a bank’s Balance Sheet, deposits is a

T T O
(a) & AE W F AAGE § |
(b) et S wT G e H, S TH gl

OR / AT
(i) True or False :
(a) Overdraft facility can be provided in Current Account.
(b) RBI Act was enacted in 1935.
g 91 A9
(a) =Te] @I H e ot gaen & S qehd 7
(b)  RBI sAfufam 1935 § @] foharm 7am o |

29. (a) Mahesh’s father wants to save I 2,00,000 so that he can gift the money to Mahesh on
his graduation day. Which type of deposit should he open with the bank ? 2x1=2

TR % T 2,00,000 THH =M =R © Alfh 98 SHh Taeh fad W 7Y il U9 STeR # T
Th | 3% o & WY fohg YR o1 ST W1 Wi =gy ?

(b)  Mr. Ravi has limited income and wants to save money for future needs. Which type of
bank deposit account should he open with the bank ?

t. e & 99 Gifta 3 § IR 97 vfas it sevgessarsti & fau o s = § 1S9 fea
YRR k1 Sich STHT Gl sioh § @I =18y ?
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30. Fill in the blanks : 2x1=2

(@) The consideration of insurance is known as

(b)  The principle of utmost good faith is based on between insurer and insured.
ECSESIERTUE
(a) o1 % Hfawat % & H S S
(b) Ui wefavard &1 fagia siHmeRdl IR SRS & = R ARG § |
31. (i) If a person takes life insurance policy in the name of his wife and if later they get
divorced. Will it affect the insurance contract ? 1x2=2

Jfe =aferd 379 It o A9 T SieA oA GifTd] ol & SR o1 § Seh! doiteh ol Sl & | 5
ST ST STTeY T 3R TS ?

OR / 3tgan
(i) The ship carrying oranges was insured against losses arising from accident with
insurance company. The ship reached the port safely and there was a delay in unloading
the oranges from the ship. As a result, the oranges got spoilt. Will the insurance company
responsible to pay any compensation to insured ?

HR T S FTel STETST 1 STHT BT W oA 9 H aTet Tohe o fold siHT @ 741 o | STerst
FSTIE W Iga T 1R SRS & HRk AR H 4 g2 | efton g g7l fob Tk ©rel &1 I | 381 <
HTIAT STHIURER hl I H3TEST o7 o forT SRR 2t 2

32. (i) True or False: 2x1=2

(a) Wholesalers require small amount of capital investment for their business.

(b)  Channel of distribution is the route taken by goods as they move from producers
to consumers.

G 1 A9 .
(a) ok fosharell 1 3T o™ o foIT SISt Uit st STawarshdl et § |
(b) o oml & oy Scaresh | U aF ST ¢, 3§ faaRor qrea e
OR / AT
() Fill in the blanks :

(@) Wholesaler is an important link between producer and

(b) A retailer actsasa between the wholesaler and the ultimate
consumer.
e T W1
(a) o AN, IAGH T % o9 T HE@gU el g
(b) Wb G Toshdl, oieh fashar Ta ifam Iusiien o == T hTH HIAT § |
33. True or False: 2x1=2

(a) Advertising is a powerful communication force, and it is also an important activity of
promotion mix.

(b) Salesmen get no help from advertising while selling goods and services to customers.

G 91 A9 -

(a) ToauTo T wifeaenel HoR wfed €, 3R I o= fasor ot wewerqut fafafy «f 7
(b) T HoTE i fRet Seug st1eran San i fosh! # fommam § 65 ey 781 e
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34.

35.

True or False :

(a)
(b)

Responsibility of Consumer includes proper use of products or services.

A responsible consumer is one who tries to protect his interest on his own.

g 91 A9 .

(a)
(b)

@)

IUHIeTT kit T | Scarel 3R Yanedl w1 Sfad S9am snfae g1
T FTHeR SYfieT 98 § S 379 fedl ot 387 T3 A ol TI i © |

Best Answer Test :

(@) When was the Essential Commodities Act was enacted ?
(b)  BIS stands for

TATaH I T
(a) AT g AfIH ohel o fomam T ?
(b) s T TH T HATH © |

OR / et
Fill in the blanks :

2x1=2

2x1=2

(a) State Commission can deal with cases involving value of goods not exceeding

(b) Prevention of Food Adulteration Act was passed in the year
ECSESIERTTUE

(a) T&F WM Y Afyek 7 31 Yod ATl "mel 9 e 9ehd1
(b) @ U fHerree Jsham syt ¥ ¥ Iid gt o |

SECTION-C / @Us-TT

Question No. 36 to 51 below. Internal choices have been given wherever necessary.

93 36 ¥ 51 = fau € | S ot serwees |1, aafier faehey feu €1

36.

37.

38.

39.

What is a Partnership ? Explain in your own words.

WSS 41§ 2 379 vIsa) § SHEE |

What is Thrift and Credit Society ? Explain.
frdeafadn o e wffd =0 € 2 guemEn

@)

(i)

Which medium of advertising will be preferred by the blind ?
TR AR o fTT -1 foqTo e gereremed fag gem 2

OR / 3141
Which media is useful for illiterate consumers ?

srfarfard SuMieredl & forw shig-91 Hifean Suam & 2

Who is a Consumer ? Explain in brief.
YT ®F € 7 WA H TR |
OR / 3141
Give any two reliefs to a consumer under Consumer Protection Act, 1986.

IO TIET0T AT, 1986 % SA=Td Ueh SULIKIT hl IS o T <IfeTT |
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40. Give the full form of COPRA. How does it benefit consumers ? 2
COPRA &1 QUi &9 S8T | 39 el 1 a1 e 2l § 2

41. (i) Write any two problems faced by consumers. 2
SUNIIIA & HHA A aell fohel <1 wmensti % o) # fefa |
OR / 3eran
(i) Why should a consumer look for ISI mark on the electric goods ?

Teh YIS i forsTell o THM W 6. TH. 2716, Hleh 1 <@H1 =1fed 2

42. Explain three types of Non-economic activities that you see in your surroundings. 3

o GehR <kt T-T1fefen fomansti 1 ovfq SifST f512 3119 199 3Te-919 <@ § |

43. What is E-=Commerce ? Explain any two types of E-Commerce. 3

3-afoR o § ? SO o Tl <1 YRRl o1 F0iF hifera |

44. (i) Whatis ATM ? How does it help the customers of the bank ? 3
QA TH. 17 ? T8 Sioh h UTEehl shi TohH Foh HETEell <hcll & ?
OR / 3eran
(i) State any three secondary functions of a Commercial Bank.

T OISR Sk o fohegi v fediaeh Sl ol Soold HITSu |

45. State any three differences between wholesalers and retailers. 3

o1k Torshdl T Teaht foshdl H 15 T 3T Iasd |

46. (i) State any three qualities required for success in Self-employment. 3
ISR H Fherdl o forg fh=l i Tl 1 Seer@ shifeig |
OR / 3eran
(i) State briefly the avenues of Wage Employment in the area of business.

EE % & H Arehil o hiF-shiH U I § ? G&d H GHAET |

47. (i)  State any three qualities of a successful entrepreneur. 3
T 9hal ST ok TRl i Ul ol Seer@ it |
OR / et
(i) What factors you would like to consider if you start a small enterprise to produce paper
cups ?

g 319 YR F9 T & FoTT Tk STl 3T9 & Hd © a1 379 fFT FRept R o= o == 2

48. What are Multinational Companies ? Give two examples. Explain any three advantages of 5
multinational companies.

S HTTAT 1 Bt & 2 S ST TS | Sgaeea sheaf-iai o ferel ofie enedf o1 Seora whifsre |

32 E]
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51.
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“Communication is as necessary to the business as the blood streams is to a person.”

Explain.

" U e H T 1 S € Hed ¢ o foh Tk St o oy o HeR ! | weEsy |
OR / 3eran

Describe the procedure of opening a Saving Bank Account in a Bank.

fordt Sier H sT=Id @IaT Wie i GfshaT 1 Scoid Hifs |

Mohan takes an insurance policy of ¥ 1,00,000 with ‘X’ Company. The goods of Mohan
are damaged due to fire, the loss incurred is I 30,000. ‘X’ Company shall restore the
actual loss but Mohan claims full amount of the policy. Name the principle of insurance
he violated and explain it in 50 words.

e X’ ST 6 121 1,00,000 T T SAT HiTe! ST 8 | ST T | Hied Sl | afaue
B T, 30,000 TIH T THEH €T | X’ HET SRfereh 814 i YRUTE it wifeh [ wiferdt
1 O TR 1 I HL@1 S | A 39 TSI 1AW gar e 36 Seie R a1 39
Tegia =i 50 =l # HHEET |

OR / 3eran
What purpose does Marine Insurance Policy serve ? Explain the different types of
marine insurance policies, which may be of use to exporters and importers.

T ST Bt R YA § 2 3Trdeht qen it & ford Swintt fafi= gerR st aEt st
Tiferial 1 Ieer@ hitag |

What is meant by Advertising ? Give two features of advertising. Explain any three objectives
of advertising.

fomam & s s & 2 T ot < femroand s | fommam o foredl i saeval o1 Seoi@ it |
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